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' 2-9 Solving Linear Inequalities
Pk AIM: How can we express an inequality statement in multiple ways?

‘ %larm Up: Determine whether the following equation has one solution, infinite solution, or no
solution. Justify your reasoning.

2(2x + 5) = 4x + 10 ot .
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Interval Notation vs. Gra h1ca11y on a Number line

Less than More than Less than or equal to | Greater than or equal
x<5 x>5 <5 ' x5
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Exercise 1: 5x+10 > 20
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: When you multiply or divide by a N4 O\ h\/c number, we FL\P the inequality
1 J symbol
Mo mmmetn e
Exercise 2 —6y —té > 26
| {opt> ;)4 X Lo )
Pl = ?@j J -
.\.
A e
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Problem Set: Express your solution set in interval notation and graphically, on @ number line.

1) —6(x=5) =30
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4) What is the solution of the inequality -g?jc —17 T “%J; + 25 % ) OVE ol \
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5) Which number is in the solution set of the inequality 6x +2 < 8¢ + 14
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Real World Application of Inequalities

Scenario Inequality in set notation Graphically on a number

You must be 4ft or taller to ride e
the roller coaster % e L\_ GEW




